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[2] A28 Hol=—-x9x6 -+ (O)

[31 —o0<y<9 - (O)
[41 721¢71= =2 - (O)



Never give up

QOoops! My mistakelll L§ A4& ZOJERL
PatternOl., ZtE Q71 A4




No mistake

Pattern03. QHH Al OlAL AlA

le] b+%=2\/§—2 = b(V2+1)=4y2—4 - (x)
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[9] p—l-z-l-q—l-ﬁ =1 — 12p+3+12¢+1=1 - (X)
|
[10] | = —> —= n “cee
nla, n+1)n+2)(n+3) a,, ) n+2)(nt3) (x)
—2t*

[l = 1 (x—t)—2t* — @t—1)y=—22+2t>—2> - (x)

W g=—b+z > z=—a—>b - (X)

[0] — 12p+3+12¢+1=12 --- (O)
m+1)(n+2)(n+3) )

[10] — a = '
n.

n

-~ (O)

[l — @¢-1y=—2C+26 -2 (t—1) - (O)
[12] — z=a+b - (O)
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